EBIDEXEXTF 4T

BUMZAGEE, KE 1O EMBEZEEIFMNEDHFL
Iz BENBHENZEH SO BEHEINTVET . iim
[FESR30RTY BRICEREZLTHELNETESTI .S
DBEHZOHEHLTHELLD.

i co 24 o

R

woEMIZELL,
(R —32x§+8 B L

(Rz) S85b - 3=Tb  sagag,

[M3] 3+v6xvE8 #itHel.

(4] —@H R —x+2=9(x-T7) 2@},

(ms) st {0V EIRIT.
—x 46y =37

(6] —dHHRK (x+8)°=2 #Wii.

1] kosmesrr.
(W11 53 X (=9 &atHes.
[f2] Bla+b)-a-b) FHEL,
(M3) /7+2/BT -2/ EFHSEE,
(4] —WHBA Ax-5=x-6 LRI,

izt L Tx—y=8
(M5) &3 HRA {J_wy,e
(6]

RGN P +12x+35=0 BHHT

T,

(1] &@%ﬁﬂkﬂilq

| EEREED

(1] kosm: gz;q

(1) 9-8+5 #aHaas,

[(Bi2] 3(5a—b) = (7a —ab) &L,
(3] (2-vB)(1+vB) #atfw L.

[H4) —@ A 9x+4=5(x+8) 2.
(ms) w0 e,
(6] _.zki‘iff%itfixa+9x+5—n . 15

:F (1] wosmi: B

[#1) 6- 9><i—~1 FEHHAL,
[B2)] 8Ba+h-(a—Th) &Etiwk,
(H3] 6+ V21 -v2) BRHEL,

[m4] —®wEEX Hx+5)=4x+9 &Mfit.
i (5] s A 5t "”y_’s HIRIT.
o= [M6] —dHEN L+ox+2=0 THIT.

:F [i] KOEMIZELE

_mﬁég

: :F (1] xosmsir.

:F 1] Eﬁ:@ﬁﬁﬁi ik,

5+— *(—8) #alMeL,
a-b) ~(a-9b) EFELL

(V7 -1 ®AHHEL,

—hHBA Ax+6=5(x+3) WM.
RS B

ZWHEA frx-0=0 I,

[
(fg2]
(3]
NEY
[R5)
[Ri6]

T

(M1 56— x5zl
(fi2) 7a—b—5(a —2b) ZatEEL.

(R3] \/4_8+% AR L,

(f§4) —dJfA x+6=2(x+1) #MiT,

= P - ;o g.x _5y= =
(RiS) MRt | o T e
(m6)

SdifE S 4+5x—6=0 &M,

1] woame: gx.to

| 7|
(M) 7+8+5 &AL f& (1) E+4XT garge k. ; 5 (m1) —7+8x(—3) LEHALL
Eﬁ (2] 9a+4b-(a-3b) &itseL. (M2] 9a+5b—(8a—b) =FlEEk, i [M2] Na+by—(a+3b) ZFHLL
PN (w3 (BesnE-2) zarmes, P oy monea owames AN (3 (TeexvT-2) kRl
& (M4) —RHER x-T-9x+1) BHF. | & (B4 —WER 9x -8=5(x+d)  ERT. & (M4) —KHERX x-5=3x+1 M.
g xtdy=8 o [ Zx+dy= -6 ;  lax—y=9
B (ms) i BA | ey, 15 (ws) wummR {7 ama. | E (5] EEARR (T VT e
Sll  (m6) kAR +5x-3-0 &R, Rl (Me) —kmER x-5x+1-0 . Gl (M6) —kHER ©-120+35=0 ERMiF.
emagEE smoEE FRI1EE
A (M117  (m2) 93;“—5'* (/31 2v3 [A] CF1) =7 [(M2) Ba+b (F3) —4+ 6 [ (P11 1 (F2) 3a+5b  (F93) 8 =247
N (45 (5] x=-ly=6 ({6 ~8vZ ()9 (M) x=3y=5 (me) LV (M) 9 (Ms) x=dy=6 (ms LIV
ﬂtF FR30EE TH20FE FH28FE
] (M1 8 [#2] 4a+9b (M3l -5 7] (F1] 9 (2] Ta+8b 3] 4 —5v8 B [1] (P11 -8 (2] 2a+9b [M3] 743
=% (ma) -} (m5) x=2.0=6  (me) 7.5 M4 6 (ms) x=3y=4 (me) 25V (m4) 4 (w5 x=2y=5 (me) 61
ER2TEE TRI26EE EH25FE
3] (1] 9 (2] Ba+7Th [F3] ~4+3v6 [A] [F1) -8 (F2) a+6b (3] -3 [Fl4] 7 1] [F1) -9 [Fi2] Ba+6b (B3] —5+447
(4] -2 (Ms) x=4y=-1 (e 22T (B8 x=—9y=4  (p6) x= 3EVEL (e -3 (ms) x=2y=-1  (m6) 57




